| H | 1 2 | | | | M | \$ 12 | 10- | 00 | | H. | -DATE 20 5 ORTING |
|-------------------------|------------------------------|---|----------------------|----------------------------------|--------------------------------|--------------------------------|--------------------|-----------------------|------------------------------------|--------------------------------|---|
| 3-10 | | ND QUALITY OF FUEL OIL FOR ELECTRIC P RICE AND AS RECEIVED QUALITY | LANTS | 1 | EGI | 4.5 |)1 | | | | NUMBER - DATE LI AUG 20 89 RDS/REPORTIN |
| 0000 | 1. REPORTING MONTH: | <u>Jun-98</u> | | 3. NAME, TITLE & SUBMITTED OF | TELEPHONE NUMB N THIS FORM: | ER OF CONTAC | | | | 0 | 199 199 |
| 00 | 2. REPORTING COMPANY: | FLORIDA POWER CORPORATION | | 4. SIGNATURE O | F OFFICIAL SUBMIT | TING REPORT: | ICHIN | NSCARDINO, | | | H 0 12 |
| | | | | 5. DATE COMPLE | TED: | 08/14/98 | 0011 | SULFER | BTU | | CELIVERED T |
| LIN <u>NO</u> (a) | PLANT NAME | SUPPLIER NAME (c) | SHIPPING POINT(d) | PURHCASE <u>TYPE</u> (e) | DELIVERY LOCATION (f) | DELIVERY <u>DATE</u> (g) | TYPE OIL (h) | CONTENT (%) (i) | CONTENT <u>(Btu/gal)</u> (j) | VOLUME <u>(Bbls)</u> (k) | PRICE (\$/Bbl) (1) |
| 1 | ANCLOTE | BP OIL COMPANY | TAMPA, FL | MTC | FOB PLANT | 06/98 | F02 | 0.39 | 138,930 | 885 | \$19.3601 |
| 2 | AVON PARK PEAKERS | COASTAL FUELS MARKETING | PORT MANATEE, FL | S | FOB PLANT | 06/98 | F02 | 0.33 | 139,333 | 11,734 | \$20.0325 |
| 3 | BARTOW | COASTAL FUELS MARKETING | PORT MANATEE, FL | S | FOB PLANT | 06/98 | F06 | 1.91 | 154,416 | 112,723 | \$11.4280 |
| 4 | BARTOW | RIO ENERGY INTERNATIONAL INC | PORT MANATEE, FL | MTC | FOB PLANT | 06/98 | F06 | 2.49 | 155,494 | 113,267 | \$12.3780 |
| 5 | BARTOW NORTH FUEL TERMINAL | RIO ENERGY INTERNATIONAL INC | HOUSTON, TX | MTC | FOB TERMINAL | 06/98 | F06 | 2.47 | 153,667 | 114,646 | \$11.2580 |
| 6 | BARTOW PEAKERS | CENTRAL OIL COMPANY | TAMPA, FL | MTC | FOB PLANT | 06/98 | F02 | 0.37 | 111,313 | 51,856 | \$19.8665 |
| 7 | BARTOW FUEL TERMINAL -UNIT 1 | NO DELIVERIES | | | | 06/98 | | | | | |
| 8 | BARTOW SOUTH FUEL TERMINAL | HOWCO ENVIRONMENTAL SERVICES | ST. PETERSBURG, FL | S | FOB TERMINAL | 06/98 | F06 | 0.46 | 138,000 | 1,208 | \$11.7367 |
| 9 | BARTOW SOUTH FUEL TERMINAL | MFM ENVIRONMENTAL COMPANY | REDDICK, FL | S | FOB TERMINAL | 06/98 | F06 | 0.39 | 142,872 | 1,658 | \$11.5283 |
| 10 | BARTOW SOUTH FUEL TERMINAL | MAGNUM ENVIRONMENTAL SERVICE | TAMPA, FL | S | FOB TERMINAL | 06/98 | F06 | 0.42 | 142,561 | 5,026 | \$11.3237 |
| 11 | BARTOW SOUTH FUEL TERMINAL | OIL UNLIMITED INC. | SANFORD, FL | S | FOB TERMINAL | 06/98 | F06 | 0.34 | 146,500 | 1,397 | \$11.4707 |
| 12 | BARTOW SOUTH FUEL TERMINAL | PETROTECH SOUTHEAST, INC. | OCOEE, FL | S | FOB TERMINAL | 06/98 | F06 | 0.25 | 142,857 | 620 | \$11.1129 |
| 13 | BARTOW SOUTH FUEL TERMINAL | COASTAL FUELS MARKETING | PORT MANATEE, FL | S | FOB TERMINAL | 06/98 | F06 | 1.58 | 155,308 | 115,098 | \$12.9213 |
| 14 | BARTOW SOUTH FUEL TERMINAL | RIO ENERGY INTERNATIONAL INC | HOUSTON, TX | MTC | FOB TERMINAL | 06/98 | F06 | 1.48 | 155,700 | 836,547 | \$12.7949 |
| 15 | BAYBORO PEAKERS | CENTRAL OIL COMPANY | TAMPA, FL | MTC | FOB PLANT | 06/98 | F02 | 0.47 | 138,802 | 83,350 | \$19.5694 |
| 16 | CRYSTAL RIVER NORTH | BP OIL COMPANY | TAMPA, FL | MTC | FOB PLANT | 06/98 | F02 | 0.39 | 138,930 | 1,233 | \$19.5540 |
| 17 | CRYSTAL RIVER NORTH | BP OIL COMPANY | TAMPA, FL | MTC | FOB PLANT | 06/98 | F02 | 0.39 | 138,930 | 530 | \$20.3086 |
| 18 | CRYSTAL RIVER SOUTH | OIL UNLIMITED INC. | SANFORD, FL | S | FOB PLANT | 06/98 | F02 | 0.30 | 146,500 | 1,981 | \$17.4593 |

FPSC FORM 423-1

MONTHLY REPORT OF COST AND QUALITY OF FUEL OIL FOR ELECTRIC PLANTS ORIGIN, VOLUME, DELIVERED PRICE AND AS RECEIVED QUALITY

| | 1. REPORTING MONTH. | <u>Jun-98</u> | | 3. NAME, TITLE & SUBMITTED ON | TELEPHONE NUME N THIS FORM: | ER OF CONTAG | | | | \sim | |
|-----------|-----------------------------|---------------------------|------------------|----------------------------------|--------------------------------|--------------|------|--------------------------|------------------------------------|------------------|--------------------------------|
| | 2. REPORTING COMPANY: | FLORIDA POWER CORPORATION | | 4 SIGNATURE OF | F OFFICIAL SUBMIT | TING REPORT: | 0 | 2 | Les | 2/2 | ~ |
| | | | | 5. DATE COMPLE | TED: | 08/14/98 | JOHN | SCARDINO, | JR., CONTRO | OLLER | |
| LIN NC | PLANT NAME | SUPPLIER NAME | | PURHCASE | DELIVERY | | | SULFER CONTENT (%) | BTU CONTENT <u>(Btu/qal)</u> | VOLUME (Bbls) | DELIVERED PRICE (\$/Bbl) |
| (a) | | (c) | (d) | (e) | (f) | (9) | (h) | (1) | (j) | (K) | (1) |
| 19 | DEBARY PEAKERS | BP OIL COMPANY | TAMPA, FL | MTC | FOB PLANT | 06/98 | F02 | 0.40 | 138,934 | 5,034 | \$19.7878 |
| 20 | DEBARY PEAKERS | COASTAL FUELS MARKETING | PORT MANATEE, FL | S | FOB PLANT | 06/98 | F02 | 0.03 | 139,800 | 84 | \$19.5479 |
| 21 | DEBARY PEAKERS | STEUART PETROLEM CO. | JACKSONVILLE, FL | S | FOB PLANT | 06/98 | F02 | 0.06 | 137,875 | 1,415 | \$20.5728 |
| 22 | DEBARY PEAKERS | BP OIL COMPANY | TAMPA, FL | MTC | FOB PLANT | 06/98 | F02 | 0.03 | 138,147 | 44,934 | \$20.5827 |
| 23 | DEBARY PEAKERS | BP OIL COMPANY | TAMPA, FL | MTC | FOB PLANT | 06/98 | F02 | 0.04 | 138,085 | 12,213 | \$34.3281 |
| 24 | DEBARY PEAKERS | BP OIL COMPANY | TAMPA, FL | MTC | FOB PLANT | 06/98 | F02 | 0.05 | 139,111 | 24,799 | \$21.2960 |
| 25 | DEBARY PEAKERS | COASTAL FUELS MARKETING | PORT MANATEE, FL | S | FOB PLANT | 06/98 | F02 | 0.03 | 115,073 | 12,993 | \$20.2685 |
| 26 | DEBARY PEAKERS | STEUART PETROLEM CO. | JACKSONVILLE, FL | S | FOB PLANT | 06/98 | F02 | 0.04 | 137,857 | 535 | \$21.0657 |
| 27 | HINES PLANT PEAKERS | COASTAL FUELS MARKETING | PORT MANATEE, FL | S | FOB PLANT | 06/98 | F02 | 0.03 | 139,232 | 177 | \$40.4031 |
| 28 | HINES PLANT PEAKERS | OIL UNLIMITED INC. | SANFORD, FL | S | FOB PLANT | 06/98 | F02 | 0.04 | 139,000 | 157 | \$41.4753 |
| 29 | HIGGINS STEAM PLANT | NO DELIVERIES | | | | | | | | | |
| 30 | HIGGINS PEAKERS | NO DELIVERIES | | | | | | | | | |
| 31 | INTERCESSION CITY PEAKERS | BP OIL COMPANY | TAMPA, FL | MTC | FOB PLANT | 06/98 | F02 | 0.38 | 138,934 | 12,696 | \$19.4366 |
| 32 | INTERCESSION CITY PEAKERS | BP OIL COMPANY | TAMPA, FL | MTC | FOB PLANT | 06/98 | F02 | 0.05 | 139,406 | 89,203 | \$20.2243 |
| 33 | INTERCESSION CITY PEAKERS | BP OIL COMPANY | TAMPA, FL | MTC | FOB PLANT | 06/98 | F02 | 0.47 | 139,376 | 27,847 | \$19.6981 |
| 34 | CRYSTAL RIVER NUCLEAR PLANT | BP OIL COMPANY | TAMPA, FL | MTC | FOB PLANT | 06/98 | F02 | 0 04 | 138,767 | 176 | \$43.5506 |
| 35 | PORT SAINT JOE PEAKERS | NO DELIVERIES | | | | | | | | | |
| 36 | RIO PINAR PEAKERS | COASTAL FUELS MARKETING | ST. MARKS, FL | S | FOB PLANT | 06/98 | F02 | 0.41 | 138,693 | 188 | \$26.2736 |
| 37 | RIO PINAR PEAKERS | COASTAL FUELS MARKETING | ST. MARKS, FL | S | FOB PLANT | 06/98 | F02 | 0.41 | 138,693 | 376 | \$20.4204 |
| 38 | SUWANNEE STEAM PLANT | CENTRAL OIL COMPANY | TAMPA, FL | MTC | FOB PLANT | 06/98 | F06 | 1.00 | 152,381 | 5,430 | \$19.0765 |
| 39 | SUWANNEE STEAM PLANT | SELLERS OIL COMPANY | BAINBRIDGE, GA | S | FOB PLANT | 06/98 | F06 | 0.45 | 137,862 | 2,130 | \$20.0587 |
| 40 | SUWANNEE STEAM PLANT | CENTRAL OIL COMPANY | TAMPA, FL | MTC | FOB PLANT | 06/98 | F06 | 3.76 | 151,190 | 296 | \$18.0238 |
| 41 | SUWANNEE STEAM PLANT | FOUR WAY OIL COMPANY INC | CAIRO, GA | S | FOB PLANT | 06/98 | F06 | 0.52 | 132,371 | 7,852 | \$12.4634 |

FPSC FORM 423-1

MONTHLY REPORT OF COST AND QUALITY OF FUEL OIL FOR ELECTRIC PLANTS ORIGIN, VOLUME, DELIVERED PRICE AND AS RECEIVED QUALITY

| | 1. REPORTING MONTH: Jun-98 | | | 3. NAME, TITLE & TELEPHONE NUMBER OF CONTACT PERSON CONCERNING DATA SUBMITTED ON THIS FORM: <u>MANNY PEREZ, ACCOUNTANT (727) 820-2392</u> | | | | | | | |
|-------------------------|----------------------------|---------------------------|--------------------------|---|-----------------------------|--------------------------|--------------------|---------------------------------|---|-------------------------|---------------------------------------|
| | 2. REPORTING COMPANY: | FLORIDA POWER CORPORATION | | 4. SIGNATURE OF 5. DATE COMPLE | F OFFICIAL SUBMIT | TING REPORT: 08/14/98 | NHOL | ر · | JR., CONTRO | | <u>}</u> |
| LIN <u>NO</u> (a) | PLANT NAME | SUPPLIER NAME (c) | SHIPPING POINT (d) | PURHCASE (e) | DELIVERY LOCATION (f) | DELIVERY DATE (g) | TYPE OIL (h) | SULFER CONTENT (%) (i) | BTU CONTENT <u>(Btu/gal)</u> (J) | VOLUME (Bbls) (k) | DELIVERED PRICE (\$/Bb1) (1) |
| 42 | SUWANNEE STEAM PLANT | STEUART PETROLEM CO. | JACKSONVILLE, FL | S | FOB PLANT | 06/98 | F06 | 2.71 | 151,190 | 24,488 | \$14.2278 |
| 43 | SUWANNEE STEAM PLANT | SELLERS OIL COMPANY | BAINBRIDGE, GA | S | FOB PLANT | 06/98 | F06 | 1.90 | 152,381 | 5,445 | \$16.5353 |
| 44 | SUWANNEE STEAM PLANT | TEXPAR ENERGY, INC. | VALDOSTA, GA | S | FOB PLANT | 06/98 | F06 | 2.01 | 155,011 | 34,778 | \$15.0310 |
| 45 | SUWANNEE PEAKERS | SELLERS OIL COMPANY | BAINBRIDGE, GA | S | FOB PLANT | 06/98 | F02 | 0.17 | 138,020 | 12,451 | \$20.7265 |
| 46 | SUWANNEE PEAKERS | SELLERS OIL COMPANY | BAINBRIDGE, GA | S | FOB PLANT | 06/98 | F02 | 0.33 | 138,000 | 3,182 | \$20.8056 |
| 47 | SUWANNEE PEAKERS | SELLERS OIL COMPANY | BAINBRIDGE, GA | S | FOB PLANT | 06/98 | F02 | 0.09 | 138,537 | 5,647 | \$21.9546 |
| 48 | SUWANNEE PEAKERS | SELLERS OIL COMPANY | BAINBRIDGE, GA | S | FOB PLANT | 06/98 | F02 | 0.35 | 138,000 | 7,866 | \$19.6906 |
| 49 | STEUART FUEL TERMINAL | NO DELIVERIES | | | | | | | | | |
| 50 | TURNER STEAM PLANT | NO DELIVERIES | | | | | | | | | |
| 51 | TURNER PEAKERS | BP OIL COMPANY | TAMPA, FL | MTC | FOB PLANT | 06/98 | F02 | 0.42 | 139,193 | 15,204 | \$19.3702 |
| 52 | TURNER PEAKERS | STEUART PETROLEM CO. | JACKSONVILLE, FL | S | FOB PLANT | 06/98 | F02 | 0.16 | 137,986 | 3,682 | \$21.0570 |
| 53 | TURNER PEAKERS | BP OIL COMPANY | TAMPA, FL | MTC | FOB PLANT | 06/98 | F02 | 0.03 | 138,141 | 1,232 | \$29.2336 |
| 54 | TURNER PEAKERS | BP OIL COMPANY | TAMPA, FL | MTC | FOB PLANT | 06/98 | F02 | 0.04 | 137,891 | 3,190 | \$29.0531 |
| 55 | TURNER PEAKERS | BP OIL COMPANY | TAMPA, FL | MTC | FOB PLANT | 06/98 | F02 | 0.05 | 139,086 | 12,581 | \$25.3823 |
| 56 | TURNER PEAKERS | COASTAL FUELS MARKETING | ST. MARKS, FL | S | FOB PLANT | 06/98 | F02 | 0.06 | 136,481 | 16,741 | \$20.5059 |
| 57 | TURNER PEAKERS | STEUART PETROLEM CO. | JACKSONVILLE, FL | S | FOB PLANT | 06/98 | F02 | 0.04 | 137,857 | 4,035 | \$20.7764 |
| 58 | TURNER PEAKERS | STEUART PETROLEM CO. | JACKSONVILLE, FL | S | FOB PLANT | 06/98 | F02 | 0.17 | 138,000 | 178 | \$20.9543 |
| 59 | UNIVERSITY OF FLORIDA | NO DELIVERIES | | | | | | | | | |

FPSC FORM 423-1 (a) MONTHLY REPORT OF COST AND QUALITY OF FUEL OIL FOR ELECTRIC PLANTS ORIGIN, VOLUME, DELIVERED PRICE AND AS RECEIVED QUALITY

| | ORIGIN, VOLUME, DELIVERED | PRICE AND AS RECEIVED QUALITY | | | | | | | | | | | | | - | _ | |
|--------------------------|------------------------------|-------------------------------|-----------------------------|-----------------|--------------------|--------------------------------|-------------------------------------|----------------------------------|-------------------------|--------------------------------|--|--------------------------------------|--------------------------------------|--|---|-------------------------------------|---------------------------------------|
| | 1. REPORTING MONTH: | <u>88-nut</u> | | | | | | | | & TELEPHONE N ON THIS FORM: | | | PERSON CONC | | | \sum | |
| | 2. REPORTING COMPANY: | FLORIDA POWER CORPORATION | | | | | | | 4. SIGNATURE | OF OFFICIAL SU | BMITTING R | EPORT: | | RDINO, JR., CO | | | \sim |
| | | | | | | | | | 5. DATE COMP | LETED: | 08/14/98 | | ~ 7 | | | | |
| LINI <u>NO</u> (8) | PLANT NAME | SUPPLIER NAME (c) | DELIVERY LOCATION (d) | DELIVERY (e) | TYPE OIL (f) | VOLUME <u>(Bbis)</u> (g) | INVOICE PRICE (\$/BbL) (h) | INVOICE AMOUNT (\$) (i) | DISCOUNT (\$) (j) | NET AMOUNT (\$) (k) | NET PRICE <u>(\$/Bbl)</u> (I) | QUALITY ADJUST (\$/Bbi) (m) | PURCHASE PRICE (\$/Bbl) (n) | TRANSPORT TO TERMINAL (\$/Bbi) (0) | ADDITIONAL TRANSPORT CHARGES (\$/Bbl) (p) | OTHER CHARGES (\$/Bbi) (q) | DELIVERED PRICE (\$/Bbi) (r) |
| 1 | ANCLOTE | BP OIL COMPANY | FOB PLANT | 06/98 | F02 | 885 | \$17.7626 | \$15,719.87 | \$0.0000 | \$15,719.87 | \$17,7626 | \$0.0000 | \$17,7626 | | \$0.7294 | \$0.8681 | \$19.3601 |
| 2 | AVON PARK PEAKERS | COASTAL FUELS MARKETING | FOB PLANT | 06/98 | F02 | 11,734 | \$19.1627 | \$224,855.02 | \$0,0000 | \$224,855.02 | \$19.1627 | \$0.0000 | \$19.1627 | | \$0.0000 | \$0.8698 | \$20.0325 |
| 3 | BARTOW | COASTAL FUELS MARKETING | FOB PLANT | 06/98 | F06 | 112,723 | \$11,3580 | \$1,280,308.40 | \$0,0000 | \$1,280,308.40 | \$11.3580 | \$0.0000 | \$11.3580 | | \$0.0000 | \$0.0700 | \$11.4280 |
| 4 | BARTOW | RIO ENERGY INTERNATIONAL INC | FOB PLANT | 06/98 | F06 | 113,267 | \$12.3080 | \$1,394,086.66 | \$0.0000 | \$1,394,086.66 | \$12.3080 | \$0.0000 | \$12.3080 | | \$0.0000 | \$0.0700 | \$12.3780 |
| 5 | BARTOW NORTH FUEL TERMINAL | RIO ENERGY INTERNATIONAL INC | FOB TERMINAL | 06/98 | F06 | 114,646 | \$11.1880 | \$1,282,658.22 | \$0.0000 | \$1,282,658.22 | \$11,1880 | \$0.0000 | \$11.1880 | | \$0,0000 | \$0.0700 | \$11.2580 |
| 6 | BARTOW PEAKERS | CENTRAL OIL COMPANY | FOB PLANT | 06/98 | F02 | 51,856 | \$19,1885 | \$995,042.41 | \$9,950.4200 | \$985,091.99 | \$18.9967 | \$0.0000 | \$18.9967 | | \$0.0000 | \$0.8698 | \$19.8665 |
| 7 | BARTOW FUEL TERMINAL -UNIT 1 | NO DELIVERIES | | 06/98 | | | | | | | | | | | | | |
| 8 | BARTOW SOUTH FUEL TERMINAL | HOWCO ENVIRONMENTAL SERVICES | FOB TERMINAL | 06/98 | F06 | 1,208 | \$11.6655 | \$14,091.98 | \$0,0000 | \$14,091.98 | \$11.6655 | \$0.0000 | \$11.6655 | | \$0.0000 | \$0.0712 | \$11.7367 |
| 9 | BARTOW SOUTH FUEL TERMINAL | MFM ENVIRONMENTAL COMPANY | FOB TERMINAL | 06/98 | F06 | 1,658 | \$11.4570 | \$18,995.75 | \$0.0000 | \$18,995.75 | \$11.4570 | \$0.0000 | \$11.4570 | | \$0,0000 | \$0.0713 | \$11.5283 |
| 10 | BARTOW SOUTH FUEL TERMINAL | MAGNUM ENVIRONMENTAL SERVICE | FOB TERMINAL | 06/98 | F06 | 5,026 | \$11.2524 | \$56,554.40 | \$0.0000 | \$56,554.40 | \$11.2524 | \$0.0000 | \$11.2524 | | \$0.0000 | \$0.0713 | \$11.3237 |
| 11 | BARTOW SOUTH FUEL TERMINAL | OIL UNLIMITED INC. | FOB TERMINAL | 06/98 | F06 | 1,397 | \$11.3993 | \$15,924.77 | \$0.0000 | \$15,924.77 | \$11:3993 | \$0.0000 | \$11.3993 | | \$0.0000 | \$0.0714 | \$11.4707 |
| 12 | BARTOW SOUTH FUEL TERMINAL | PETROTECH SOUTHEAST, INC. | FOB TERMINAL | 06/98 | F06 | 620 | \$11,0416 | \$6,845.80 | \$0.0000 | \$6,845.80 | \$11.0416 | \$0.0000 | \$11.0416 | | \$0.0000 | \$0.0713 | \$11.1129 |
| 13 | BARTOW SOUTH FUEL TERMINAL | COASTAL FUELS MARKETING | FOB TERMINAL | 06/98 | F06 | 115,098 | \$12.8513 | \$1,479,153.79 | \$0.0000 | \$1,479,153.79 | \$12.8513 | \$0,0000 | \$12.8513 | | \$0.0000 | \$0.0700 | \$12.9213 |
| 14 | BARTOW SOUTH FUEL TERMINAL | RIO ENERGY INTERNATIONAL INC | FOB TERMINAL | 06/98 | F06 | 836,547 | \$12.7249 | \$10,645,011.28 | \$0.0000 | \$10,645,011.28 | \$12.7249 | \$0.0000 | \$12.7249 | | \$0.0000 | \$0.0700 | \$12.7949 |
| 15 | BAYBORO PEAKERS | CENTRAL OIL COMPANY | FOB PLANT | 06/98 | F02 | 83,350 | \$18.8892 | \$1,574,412.58 | \$15,799.7100 | \$1,558,612.87 | \$18.6996 | \$0.0000 | \$18.6996 | | \$0.0000 | \$0.8698 | \$19.5694 |
| 16 | CRYSTAL RIVER NORTH | BP OIL COMPANY | FOB PLANT | 06/98 | F02 | 1,233 | \$17.5334 | \$21,618.66 | \$216.1900 | \$21,402.47 | \$17.3580 | \$0.0000 | \$17.3580 | | \$1.3249 | \$0.8711 | \$19.5540 |
| 17 | CRYSTAL RIVER NORTH | BP OIL COMPANY | FOB PLANT | 06/98 | F02 | 530 | \$18.2454 | \$9,670.05 | \$64.4700 | \$9,605.58 | \$18.1237 | \$0.0000 | \$18.1237 | | \$1.3182 | \$0.8667 | \$20,3086 |
| 18 | CRYSTAL RIVER SOUTH | OIL UNLIMITED INC. | FOB PLANT | 06/98 | F02 | 1,981 | \$15.5747 | \$30,853.43 | \$506.8000 | \$30,346.63 | \$15.3188 | \$0.0000 | \$15.3188 | | \$1.2711 | \$0.8694 | \$17.4593 |

2. REPORTING COMPANY:

FPSC FORM 423-1 (a) MONTHLY REPORT OF COST AND QUALITY OF FUEL OIL FOR ELECTRIC PLANTS ORIGIN, VOLUME, DELIVERED PRICE AND AS RECEIVED QUALITY

FLORIDA POWER CORPORATION

| 1. REPORTING MONTH: | <u>Jun-98</u> |
|---------------------|---------------|
| | |

· ·

| 3. NAME, TITLE & TELEPHONE NUMBER OF CONTACT PERSON CONCERNIN | IG DAIR |
|---|---------|
| SUBMITTED ON THIS FORM: MANNY PEREZ, ACCOUNTANT (727) 820-53 | 02 |
| | |

| | SUBMITTED ON THIS FOR | RM: MANNY PEREZ, ACCO | DUNTANT (727) 820-5302 |
|---|-----------------------|-----------------------|--------------------------------|
| 4 | SIGNATURE OF OFFICIAL | SUBMITTING REPORT: | |
| 5 | ATE COMPLETED: | 08/14/98 | JOHN SCANDINO, JR., CONTROLLER |

| LIN <u>NO</u> (a) | PLANT NAME | SUPPLIER NAME (c) | DELIVERY LOCATION (d) | DELIVERY DATE (e) | TYPE OIL (f) | VOLUME <u>(Bbis)</u> (9) | INVOICE PRICE (\$/BbL) (ħ) | INVOICE AMOUNT (\$)() | DISCOUNT (\$) (j) | NET AMOUNT (\$) | NET PRICE (\$/Bbl) (I) | QUALITY ADJUST (\$/Bbl) (m) | EFFECTIVE PURCHASE PRICE (\$/8bi) (n) | TRANSPORT TO TERMINAL <u>(\$/8bi)</u> (0) | ADDITIONAL TRANSPORT CHARGES (\$/8bl) (p) | OTHER CHARGES (\$/8bl) (q) | DELIVERED PRICE (\$/Bbi) |
|-------------------------|-----------------------------|--------------------------|-----------------------------|-------------------------|--------------------|--------------------------------|-------------------------------------|-----------------------------|-------------------------|-----------------------|---------------------------------|--------------------------------------|---|---|---|-------------------------------------|--------------------------------|
| 19 | DEBARY PEAKERS | BP OIL COMPANY | FOB PLANT | 06/98 | F02 | 5,034 | \$17.4937 | \$88,063.49 | \$850,7900 | \$87,212.70 | \$17.3247 | \$0.0000 | \$17.3247 | | \$1.5928 | \$0.8703 | \$19.7878 |
| 20 | DEBARY PEAKERS | COASTAL FUELS MARKETING | FOB PLANT | 06/98 | F02 | 84 | \$18.6831 | \$1,569.38 | \$0.0000 | \$1,569.38 | \$18.6831 | \$0.0000 | \$18.6831 | | \$0.0000 | \$0.8648 | \$19.5479 |
| 21 | DEBARY PEAKERS | STEUART PETROLEM CO, | FOB PLANT | 06/98 | F02 | 1,415 | \$17.8621 | \$25,274.84 | \$0,0000 | \$25,274.84 | \$17.8621 | \$0.0000 | \$17.8621 | | \$1.8408 | \$0.8699 | \$20.5728 |
| 22 | DEBARY PEAKERS | BP OIL COMPANY | FOB PLANT | 06/98 | F02 | 44,934 | \$18.3734 | \$825,591.02 | \$7,234.8800 | \$818,356.14 | \$18.2124 | \$0.0000 | \$18.2124 | | \$1.5001 | \$0.8702 | \$20.5827 |
| 23 | DEBARY PEAKERS | BP OIL COMPANY | FOB PLANT | 06/98 | F02 | 12,213 | \$36.0344 | \$440,088.59 | \$39,946.6300 | \$400,141.96 | \$32,7636 | \$0.0000 | \$32.7636 | | \$0.6961 | \$0.8684 | \$34.3281 |
| 24 | DEBARY PEAKERS | BP OIL COMPANY | FOB PLANT | 06/98 | F02 | 24,799 | \$18.9446 | \$469,806.13 | \$2,779.2600 | \$467,026.87 | \$18.8325 | \$0.0000 | \$18.8325 | | \$1,5930 | \$0.8705 | \$21.2960 |
| 25 | DEBARY PEAKERS | COASTAL FUELS MARKETING | FOB PLANT | 06/98 | F02 | 12,993 | \$19,3978 | \$252,034.98 | \$0.0000 | \$252,034.98 | \$19.3978 | \$0.0000 | \$19.3978 | | \$0.0000 | \$0.8707 | \$20.2685 |
| 26 | DEBARY PEAKERS | STEUART PETROLEM CO. | FOB PLANT | 06/98 | F02 | 535 | \$18.3511 | \$9,817.85 | \$0.0000 | \$9,817.85 | \$18.3511 | \$0.0000 | \$18,3511 | | \$1.8448 | \$0.8698 | \$21.0657 |
| 27 | HINES PLANT PEAKERS | COASTAL FUELS MARKETING | FOB PLANT | 06/98 | F02 | 177 | \$39.5356 | \$6,997.81 | \$0.0000 | \$6,997.81 | \$39.5356 | \$0,0000 | \$39.5356 | | \$0.0000 | \$0.8675 | \$40.4031 |
| 28 | HINES PLANT PEAKERS | OIL UNLIMITED INC. | FOB PLANT | 06/98 | F02 | 157 | \$39.0115 | \$6,124.80 | \$0.0000 | \$6,124.80 | \$39.0115 | \$0.0000 | \$39.0115 | | \$1.5932 | \$0,8706 | \$41.4753 |
| 29 | HIGGINS STEAM PLANT | NO DELIVERIES | | | | | | | | | | | | | | | |
| 30 | HIGGINS PEAKERS | NO DELIVERIES | | | | | | | | | | | | | | | |
| 31 | INTERCESSION CITY PEAKERS | BP OIL COMPANY | FOB PLANT | 06/98 | F02 | 12,696 | \$17.6354 | \$223,899.03 | \$1,925.8800 | \$221,973.15 | \$17,4837 | \$0.0000 | \$17,4837 | | \$1.0833 | \$0.8696 | \$19.4366 |
| 32 | INTERCESSION CITY PEAKERS | BP OIL COMPANY | FOB PLANT | 06/98 | F02 | 89,203 | \$18.7796 | \$1,675,199.73 | \$10,580.9900 | \$1,664,618.74 | \$18.6610 | \$0.0000 | \$18.6610 | | \$0.6934 | \$0.8699 | \$20.2243 |
| 33 | INTERCESSION CITY PEAKERS | BP OIL COMPANY | FOB PLANT | 06/98 | F02 | 27,847 | \$18.4683 | \$514,287.32 | \$2,840.7100 | \$511,446.61 | \$18.3663 | \$0.0000 | \$18.3663 | | \$0.4620 | \$0.8698 | \$19.6981 |
| 34 | CRYSTAL RIVER NUCLEAR PLANT | BP OIL COMPANY | FOB PLANT | 06/98 | F02 | 176 | \$40.9775 | \$7,212.04 | \$0.0000 | \$7,212.04 | \$40.9775 | \$0.0000 | \$40.9775 | | \$1.7024 | \$0.8707 | \$43.5506 |
| 35 | PORT SAINT JOE PEAKERS | NO DELIVERIES | | | | | | | | | | | | | | | |
| 36 | RIO PINAR PEAKERS | COASTAL FUELS MARKETING | FOB PLANT | 06/98 | F02 | 188 | \$25.4034 | \$4,775.84 | \$0.0000 | \$4,775.84 | \$25.4034 | \$0.0000 | \$25.4034 | | \$0.0000 | \$0.8702 | \$26.2736 |
| 37 | RIO PINAR PEAKERS | COASTAL FUELS MARKETING | FOB PLANT | 06/98 | F02 | 376 | \$19,5495 | \$7,350.60 | \$0.0000 | \$7,350.60 | \$19.5495 | \$0.0000 | \$19.5495 | | \$0.0000 | \$0.8709 | \$20.4204 |
| 38 | SUWANNEE STEAM PLANT | CENTRAL OIL COMPANY | FOB PLANT | 06/98 | F06 | 5,430 | \$19.1986 | \$104,248.15 | \$1,042.4600 | \$103,205.69 | \$19.0066 | \$0.0000 | \$19.0066 | | \$0.0000 | \$0.0699 | \$19.0765 |
| 39 | SUWANNEE STEAM PLANT | SELLERS OIL COMPANY | FOB PLANT | 06/98 | F06 | 2,130 | \$20.0177 | \$42,637.78 | \$55,8300 | \$42,581.95 | \$19,9915 | \$0.0000 | \$19.9915 | | \$0.0000 | \$0,0672 | \$20.0587 |
| 40 | SUWANNEE STEAM PLANT | CENTRAL OIL COMPANY | FOB PLANT | 06/98 | F06 | 296 | \$18,1360 | \$5,368.26 | \$53.6800 | \$5,314.58 | \$17.9547 | \$0.0000 | \$17.9547 | | \$0.0000 | \$0.0691 | \$18.0238 |
| 41 | SUWANNEE STEAM PLANT | FOUR WAY OIL COMPANY INC | FOB PLANT | 06/98 | F06 | 7,852 | \$12.3920 | \$97,302.20 | \$0.0000 | \$97,302.20 | \$12.3920 | \$0.0000 | \$12.3920 | | \$0.0000 | \$0.0714 | \$12.4634 |

FPSC FORM 423-1 (a) MONTHLY REPORT OF COST AND QUALITY OF FUEL OIL FOR ELECTRIC PLANTS ORIGIN, VOLUME, DELIVERED PRICE AND AS RECEIVED QUALITY

| | ORIGIN, VOLUME, DELIVERE | D PRICE AND AS RECEIVED QUALITY | | | | | | | | | | | | | | • | |
|------------------------|--------------------------|---------------------------------|-----------------------------|--------------|--------------------|-------------------------|-------------------------------------|----------------------------------|---------------------------------|--------------------------------|--|--------------------------------------|--------------------------------------|--|---|-------------------------------------|---------------------------------------|
| | 1. REPORTING MONTH: | <u> 86-nuL</u> | | | | | | | 3. NAME, TITLE & SUBMITTED C | & TELEPHONE N ON THIS FORM. | | | | | $^{\circ}$ | S | |
| | 2. REPORTING COMPANY: | FLORIDA POWER CORPORATION | | | | | | | 4. SIGNATURE C | OF OFFICIAL SU | BMITTING R | EPORT: | JOHN SCAL | RDINO, JR., C | | _ () | 1/2 |
| | | | | | | | | | 5. DATE COMPL | ETED: | 08/14/98 | | | 2 | | | |
| LIN <u>NC</u> (8 | PLANT NAME | SUPPLIER NAME (c) | DELIVERY LOCATION (d) | DELIVERY | TYPE OIL (f) | VOLUME (Bbls) (9) | INVOICE PRICE (\$/BbL) (h) | INVOICE AMOUNT (\$) (i) | DISCOUNT (\$) (i) | NET AMOUNT (\$) | NET PRICE <u>(\$/Bbl)</u> (I) | QUALITY ADJUST (\$/Bþl) (m) | PURCHASE PRICE (\$/Bbl) (n) | TRANSPORT TO TERMINAL (\$/Bbl)(0) | ADDITIONAL TRANSPORT CHARGES (\$/Bb!) (p) | OTHER CHARGES (\$/Bbl) (q) | DELIVERED PRICE (\$/Bbl) (r) |
| 42 | SUWANNEE STEAM PLANT | STEUART PETROLEM CO. | FOB PLANT | 06/98 | F06 | 24,488 | \$14,1576 | \$346,692.51 | \$0.0000 | \$346,692.51 | \$14.1576 | \$0.0000 | \$14.1576 | | \$0.0000 | \$0.0702 | \$14.2278 |
| 43 | SUWANNEE STEAM PLANT | SELLERS OIL COMPANY | FOB PLANT | 06/98 | F06 | 5,445 | \$16.4724 | \$89,692.06 | \$22.9900 | \$89,669.07 | \$16.4681 | \$0.0000 | \$16.4681 | | \$0.0000 | \$0.0672 | \$16.5353 |
| 44 | SUWANNEE STEAM PLANT | TEXPAR ENERGY, INC. | FOB PLANT | 06/98 | F06 | 34,778 | \$14.9596 | \$520,265.10 | \$0.0000 | \$520,265.10 | \$14.9596 | \$0.0000 | \$14.9596 | | \$0.0000 | \$0.0714 | \$15.0310 |
| 45 | SUWANNEE PEAKERS | SELLERS OIL COMPANY | FOB PLANT | 06/98 | F02 | 12,451 | \$18,1591 | \$226,099.18 | \$0.0000 | \$226,099.18 | \$18,1591 | \$0.0000 | \$18.1591 | | \$1.6978 | \$0,8696 | \$20.7265 |
| 46 | SUWANNEE PEAKERS | SELLERS OIL COMPANY | FOB PLANT | 06/98 | F02 | 3,182 | \$20.1158 | \$64,008.63 | \$571.3000 | \$63,437.33 | \$19.9363 | \$0.0000 | \$19.9363 | | \$0.0000 | \$0.8693 | \$20.8056 |
| 47 | SUWANNEE PEAKERS | SELLERS OIL COMPANY | FOB PLANT | 06/98 | F02 | 5,647 | \$21.2912 | \$120,231.23 | \$1,164.2100 | \$119,067.02 | \$21.0850 | \$0.0000 | \$21.0850 | | \$0.0000 | \$0.8696 | \$21.9546 |
| 48 | SUWANNEE PEAKERS | SELLERS OIL COMPANY | FOB PLANT | 06/98 | F02 | 7,866 | \$18.9776 | \$149,278.01 | \$1,225.7500 | \$148,052.26 | \$18.8218 | \$0.0000 | \$18.8218 | | \$0.0000 | \$0.8688 | \$19.6906 |
| 49 | STEUART FUEL TERMINAL | NO DELIVERIES | | | | | | | | | | | | | | | |
| 50 | TURNER STEAM PLANT | NO DELIVERIES | | | | | | | | | | | | | | | |
| 51 | TURNER PEAKERS | BP OIL COMPANY | FOB PLANT | 06/98 | F02 | 15,204 | \$17.2632 | \$262,469.58 | \$1,579.4800 | \$260,890.10 | \$17.1593 | \$0.0000 | \$17.1593 | | \$1.3406 | \$0.8703 | \$19.3702 |
| 52 | TURNER PEAKERS | STEUART PETROLEM CO. | FOB PLANT | 06/98 | F02 | 3,682 | \$18.3353 | \$67,510.42 | \$0.0000 | \$67,510.42 | \$18.3353 | \$0,0000 | \$18.3353 | | \$1.8525 | \$0.8692 | \$21.0570 |
| 53 | TURNER PEAKERS | BP OIL COMPANY | FOB PLANT | 06/98 | F02 | 1,232 | \$27.5997 | \$34,002.83 | \$0.0000 | \$34,002.83 | \$27.5997 | \$0.0000 | \$27.5997 | | \$0.7640 | \$0,8699 | \$29.2336 |
| 54 | TURNER PEAKERS | BP OIL COMPANY | FOB PLANT | 06/98 | F02 | 3,190 | \$27.9470 | \$89,151.05 | \$0,0000 | \$89,151.05 | \$27.9470 | \$0.0000 | \$27.9470 | | \$0.4921 | \$0.6140 | \$29.0531 |
| 55 | TURNER PEAKERS | BP OIL COMPANY | FOB PLANT | 06/98 | F02 | 12,581 | \$23.2224 | \$292,160.86 | \$642,1100 | \$291,518.75 | \$23.1713 | \$0.0000 | \$23,1713 | | \$1.3406 | \$0.8704 | \$25.3823 |
| 56 | TURNER PEAKERS | COASTAL FUELS MARKETING | FOB PLANT | 06/98 | F02 | 16,741 | \$19.6354 | \$328,716.42 | \$0.0000 | \$328,716.42 | \$19.6354 | \$0.0000 | \$19.6354 | | \$0.0000 | \$0.8705 | \$20.5059 |
| 57 | TURNER PEAKERS | STEUART PETROLEM CO. | FOB PLANT | 06/98 | F02 | 4,035 | \$18.0694 | \$72,909.98 | \$0.0000 | \$72,909.98 | \$18.0694 | \$0.0000 | \$18.0694 | | \$1.8372 | \$0.8698 | \$20.7764 |
| 58 | TURNER PEAKERS | STEUART PETROLEM CO. | FOB PLANT | 06/98 | F02 | 178 | \$18.3736 | \$3,270.50 | \$0.0000 | \$3,270.50 | \$18.3736 | \$0.0000 | \$18.3736 | | \$1.7081 | \$0.8726 | \$20.9543 |
| 59 | UNIVERSITY OF FLORIDA | NO DELIVERIES | | | | | | | | | | | | | | | |
| | | | | | | | | | | | | | | | | | |

FPSC FORM NO. 423-2

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS ORIGIN, TONNAGE, DELIVERED PRICE AND AS RECEIVED QUALITY

1. Report for: Mo. June 1998

- 2. Reporting Company: Florida Power Corporation
- 3. Plant Name: Crystal River 1 & 2



- Name, Title and Telephone Number of Contact Person Concerning Data Submitted on this Form Delmar J. Clark Jr., Senior Regulatory Financial Analyst (813) 824-6491
- 5. Signature of Official Submitting Report

Delmar J. Clark Jr., Senior Regulatory Financial Analyst

| | | | | | | | Total | | | | | |
|------|---------------------------|-----------|----------|-----------|--------|-----------|-----------|----------|---------|-------------|------------|----------|
| | | | | | | Effective | Transpor- | F.O.B. | | As Received | Coal Quali | ty |
| | | | | Transpor- | | Purchase | tation | Plant | Percent | Btu | Percent | Percent |
| Line | | Mine | Purchase | tation | | Price | Cost | Price | Sulfur | Content | Ash | Moisture |
| No. | Supplier Name | Location | Туре | Mode | Tons | (\$/Ton) | (\$/Ton) | (\$/Ton) | (%) | (Btu/lb) | (%) | (%) |
| (a) | (b) | (c) | (d) | (e) | (f) | (g) | (h) | (i) | (j) | (k) | (i) | (m) |
| 1 | Consol, Inc. | 08,Ky,133 | STC | UR | 28,627 | \$24.00 | \$17.86 | \$41.86 | 1.19 | 13,040 | 6.61 | 6.46 |
| 2 | Consol, Inc. | 08,Ky,119 | STC | UR | 9,842 | \$24.00 | \$17.86 | \$41.86 | 0.95 | 12,631 | 8.30 | 6.71 |
| 3 | Consol, Inc. | 08,Ky,119 | S | UR | 19,298 | \$23.00 | \$17.86 | \$40.86 | 0.96 | 12,563 | 8.02 | 7.30 |
| 4 | Franklin Coal Sales | 08,Ky,119 | STC | UR | 18,953 | \$23.25 | \$17.86 | \$41.11 | 1.08 | 12,679 | 9.19 | 6.47 |
| 5 | James River Coal Sales | 08,Ky,013 | S | UR | 8,436 | \$23.75 | \$17.73 | \$41.48 | 1.04 | 13,065 | 7.97 | 5.08 |
| 6 | Quaker Coal Company, Inc. | 08,Ky,071 | MTC | UR | 18,282 | \$22.30 | \$18.11 | \$40.41 | 1.07 | 12,309 | 9.02 | 7.48 |
| 7 | Transfer Facility | N/A | LTC | OB | N/A | N/A | N/A | N/A | N/A | N/A | N/A | N/A |

FPSC FORM NO. 423-2A

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS ORIGIN, TONNAGE, DELIVERED PRICE AND AS RECEIVED QUALITY

1. Report for: Mo. June 1998

- 2. Reporting Company: Florida Power Corporation
- 3. Plant Name: Crystal River 1 & 2



- Name, Title and Telephone Number of Contact Person Concerning Data Submitted on this Form Delmar J. Clark Jr., Senior Regulatory Financial Analyst (813) 824-6491
- 5. Signature of Official Submitting Report

Delmar J. Clark Jr., Senior Regulatory Financial Analyst

6. Date Completed: August 14, 1998

-

| | | | | | | | | Retro- | | | |
|------|---------------------------|-----------|----------|--------|----------|------------|----------|-----------|----------|----------|-----------|
| | | | | | F.O.B. | Short Haul | Original | active | | Quality | Effective |
| | | | | | Mine | & Loading | Invoice | Price | Base | Adjust- | Purchase |
| Line | | Mine | Purchase | | Price | Charges | Price | Increases | Price | ments | Price |
| No. | Supplier Name | Location | Туре | Tons | (\$/Ton) | (\$/Ton) | (\$/Ton) | (\$/Ton) | (\$/Ton) | (\$/Ton) | (\$/Ton) |
| (a) | (b) | (C) | (d) | (e) | (f) | (g) | (h) | (i) | (j) | (k) | (1) |
| 1 | Consol, Inc. | 08,Ky,133 | STC | 28,627 | \$24.00 | \$0.00 | \$24.00 | \$0.00 | \$24.00 | \$0.00 | \$24.00 |
| 2 | Consol, Inc. | 08,Ky,119 | STC | 9,842 | \$24.00 | \$0.00 | \$24.00 | \$0.00 | \$24.00 | \$0.00 | \$24.00 |
| 3 | Consol, Inc. | 08,Ky,119 | S | 19,298 | \$23.00 | \$0.00 | \$23.00 | \$0.00 | \$23.00 | \$0.00 | \$23.00 |
| 4 | Franklin Coal Sales | 08,Ky,119 | STC | 18,953 | \$23.25 | \$0.00 | \$23.25 | \$0.00 | \$23.25 | \$0.00 | \$23.25 |
| 5 | James River Coal Sales | 08,Ky,013 | S | 8,436 | \$23.75 | \$0.00 | \$23.75 | \$0.00 | \$23.75 | \$0.00 | \$23.75 |
| 6 | Quaker Coal Company, Inc. | 08,Ky,071 | MTC | 18,282 | \$22.30 | \$0.00 | \$22.30 | \$0.00 | \$22.30 | \$0.00 | \$22.30 |
| 7 | Transfer Facility | N/A | LTC | N/A | N/A | N/A | N/A | N/A | N/A | N/A | N/A |

FPSC FORM NO. 423-2B

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS ORIGIN, TONNAGE, DELIVERED PRICE AND AS RECEIVED QUALITY

1. Report for: Mo. June 1998

2. Reporting Company: Florida Power Corporation

3. Plant Name: Crystal River 1 & 2



- Name, Title and Telephone Number of Contact Person Concerning Data Submitted on this Form Delmar J. Clark Jr., Senior Regulatory Financial Analyst (813) 824-6491
- 5. Signature of Official Submitting Report

Delmar J. Clark Jr., Senior Regulatory Financial Analyst

| | | | | | | | Additional | | | | | | | | | |
|------|--------------------------|-----------|---------------------------|-----------|--------|-----------|------------|----------|----------|---------|----------|---------|----------|----------|-----------|----------|
| | | | | | | Effective | Shorthaul | | Other | River | Trans- | Ocean | Other | Other | Transpor- | F.O.B. |
| | | | | Transpor- | - | Purchase | & Loading | Rail | Rail | Barge | loading | Barge | Water | Related | tation | Plant |
| Line | | Mine | Shipping | tation | | Price | Charges | Rate | Charges | Rate | Rate | Rate | Charges | Charges | Charges | Price |
| No. | Supplier Name | Location | Point | Mode | Tons | (\$/Ton) | (\$/Ton) | (\$/Ton) | (\$/Ton) | (\$/Ton | (\$/Ton) | (\$/Ton | (\$/Ton) | (\$/Ton) | (\$/Ton) | (\$/Ton) |
| (a) | (b) | (C) | (d) | (e) | (f) | (g) | (h) | (i) | (j) | (k) | (l) | (m) | (n) | (0) | (p) | (p) |
| 1 C | consol, Inc. | 08,Ky,133 | Letcher, Ky | UR | 28,627 | \$24.00 | N/A | \$15.37 | \$2.49 | N/A | N/A | N/A | \$0.00 | \$0.00 | \$17.86 | \$41.86 |
| 2 C | Consol, Inc. | 08,Ky,119 | Knott, Ky | UR | 9,842 | \$24.00 | N/A | \$15.37 | \$2.49 | N/A | N/A | N/A | \$0.00 | \$0.00 | \$17.86 | \$41.86 |
| 3 C | onsol, Inc. | 08,Ky,119 | Knott, Ky | UR | 19,298 | \$23.00 | N/A | \$15.37 | \$2.49 | N/A | N/A | N/A | \$0.00 | \$0.00 | \$17.86 | \$40.86 |
| 4 Fr | ranklin Coal Sales | 08,Ky,119 | Knott, Ky | UR | 18,953 | \$23.25 | N/A | \$15.37 | \$2.49 | N/A | N/A | N/A | \$0.00 | \$0.00 | \$17.86 | \$41.11 |
| 5 Ja | ames River Coal Sales | 08,Ky,013 | Bell, Ky | UR | 8,436 | \$23.75 | N/A | \$15.24 | \$2.49 | N/A | N/A | N/A | \$0.00 | \$0.00 | \$17.73 | \$41.48 |
| 6 QL | uaker Coal Company, Inc. | 08,Ky,071 | Floyd, Ky | UR | 18,282 | \$22.30 | N/A | \$15.62 | \$2.49 | N/A | N/A | N/A | \$0.00 | \$0.00 | \$18.11 | \$40.41 |
| 7 Tr | ransfer Facility | N/A | Plaquemine Parrish, La | OB | N/A | N/A | N/A | N/A | N/A | N/A | N/A | N/A | \$0.00 | \$0.00 | N/A | \$0.00 |

FPSC FORM NO. 423-2

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS ORIGIN, TONNAGE, DELIVERED PRICE AND AS RECEIVED QUALITY

1. Report for: Mo. June 1998

2. Reporting Company: Florida Power Corporation

3. Plant Name: Crystal River 4 & 5



- Name, Title and Telephone Number of Contact Person Concerning Data Submitted on this Form Delmar J. Clark Jr., Senior Regulatory Financial Analyst (813) 824-6491
- 5. Signature of Official Submitting Report

Delmar J. Clark Jr., Sehior Regulatory Financial Analyst

| | | | | | | Effective | Total Transpor- | F.O.B. | | As Received | Coal Quali | ity |
|-------------|-------------------------------|------------------|------------------|-----------------------------|---------|-------------------------------|----------------------------|----------------------------|--------------------------|----------------------------|-----------------------|----------------------------|
| Line No. | Supplier Name | Mine Location | Purchase Type | Franspor- tation Mode | Tons | Purchase Price (\$/Ton) | tation Cost (\$/Ton) | Plant Price (\$/Ton) | Percent Sulfur (%) | Btu Content (Btu/lb) | Percent Ash (%) | Percent Moisture (%) |
| (a) | (b) | (c) | (d) | (e) | (f) | (g) | (h) | (i) | (j) | (k) | (I) | (m) |
| 1 | Powell Mountain Joint Venture | 08,Va,105 | LTC | UR | 66,691 | \$35.08 | \$17.77 | \$52.85 | 0.73 | 12,323 | 9.67 | 7.29 |
| 2 | Franklin Coal Sales | 08,Ky,195 | LTC | UR | 27,838 | \$25.25 | \$17.90 | \$43.15 | 0.67 | 12,595 | 10.09 | 6.96 |
| 3 | Consol, Inc. | 08,Ky,133 | S | UR | 19,074 | \$25.00 | \$17.90 | \$42.90 | 0.73 | 13,064 | 6.21 | 6.87 |
| 4 | Quaker Coal Company, Inc. | 08,Ky,195 | MTC | UR | 29,689 | \$24.00 | \$17.90 | \$41.90 | 0.70 | 13,162 | 6.99 | 6.21 |
| 5 | McMining, Inc. | 08,Ky,195 | MTC | UR | 9,361 | \$25.00 | \$17.90 | \$42.90 | 0.55 | 12,742 | 7.15 | 7.45 |
| 6 | Transfer Facility | N/A | LTC | OB | 172,745 | \$42.11 | \$8.24 | \$50.35 | 0.69 | 12,656 | 8.56 | 6.72 |

FPSC FORM NO. 423-2A

¢

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS ORIGIN, TONNAGE, DELIVERED PRICE AND AS RECEIVED QUALITY

- 1. Report for: Mo. June 1998
- 2. Reporting Company: Florida Power Corporation
- 3. Plant Name: Crystal River 4 & 5



- Name, Title and Telephone Number of Contact Person Concerning Data Submitted on this Form Delmar J. Clark Jr., Senior Regulatory Financial Analyst (813) 824-6491
- 5. Signature of Official Submitting Report

Delmar J. Clark Jr., Senior Regulatory Hinancial Analyst

| Line No. | Supplier Name | Mine Location | Purchase Type | Tons | F.O.B. Mine Price (\$/Ton) | Short Haul & Loading Charges (\$/Ton) | Original Invoice Price (\$/Ton) | Retro- active Price Increases (\$/Ton) | Base Price (\$/Ton) | Quality Adjust- ments (\$/Ton) | Effective Purchase Price (\$/Ton) |
|-------------|-------------------------------|------------------|------------------|---------|-------------------------------------|--|--|--|---------------------------|---|--|
| (a) | (b) | (c) | (d) | (e) | (f) | (g) | (h) | (i) | (j) | (k) | (I) |
| 1 | Powell Mountain Joint Venture | 08,Va,105 | LTC | 66,691 | \$35.08 | \$0.00 | \$35.08 | \$0.00 | \$35.08 | \$0.00 | \$35.08 |
| 2 | Franklin Coal Sales | 08,Ky,195 | LTC | 27,838 | \$25.25 | \$0.00 | \$25.25 | \$0.00 | \$25.25 | \$0.00 | \$25.25 |
| 3 | Consol, Inc. | 08,Ky,133 | S | 19,074 | \$25.00 | \$0.00 | \$25.00 | \$0.00 | \$25.00 | \$0.00 | \$25.00 |
| 4 | Quaker Coal Company, Inc. | 08,Ky,195 | MTC | 29,689 | \$24.00 | \$0.00 | \$24.00 | \$0.00 | \$24.00 | \$0.00 | \$24.00 |
| 5 | McMining, Inc. | 08,Ky,195 | MTC | 9,361 | \$25.00 | \$0.00 | \$25.00 | \$0.00 | \$25.00 | \$0.00 | \$25.00 |
| 6 | Transfer Facility | N/A | LTC | 172,745 | \$42.11 | \$0.00 | \$42.11 | N/A | \$42.11 | N/A | \$42.11 |

FPSC FORM NO. 423-2B

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS ORIGIN, TONNAGE, DELIVERED PRICE AND AS RECEIVED QUALITY

1. Report for: Mo. June 1998

2. Reporting Company: Florida Power Corporation

3. Plant Name: Crystal River 4 & 5



- Name, Title and Telephone Number of Contact Person Concerning Data Submitted on this Form Delmar J. Clark Jr., Senior Regulatory Financial Analyst (813) 824-6491
- 5. Signature of Official Submitting Report

Delmar J. Clark Jr., Senior Regulatory Financial Analyst

| | | | | | | | Additional | | | | | | | | | |
|------|-------------------------------|-----------|-------------|----------|---------|-----------|------------|----------|----------|---------|----------|---------|----------|----------|-----------|----------|
| | | | | | | Effective | Shorthaul | | Other | River | Trans- | Ocean | Other | Other | Transpor- | F.O.B. |
| | | | | Transpoi | - | Purchase | & Loading | Rail | Rail | Barge | loading | Barge | Water | Related | tation | Plant |
| Line | | Mine | Shipping | tation | | Price | Charges | Rate | Charges | Rate | Rate | Rate | Charges | Charges | Charges | Price |
| No. | Supplier Name | Location | Point | Mode | Tons | (\$/Ton) | (\$/Ton) | (\$/Ton) | (\$/Ton) | (\$/Ton | (\$/Ton) | (\$/Ton | (\$/Ton) | (\$/Ton) | (\$/Ton) | (\$/Ton) |
| (a) | (b) | (c) | (d) | (e) | (f) | (g) | (h) | (i) | (j) | (k) | (1) | (m) | (n) | (0) | (p) | (q) |
| 1 | Powell Mountain Joint Venture | 08,Va,105 | Lee, Va | UR | 66,691 | \$35.08 | N/A | \$15.24 | \$2.53 | N/A | N/A | N/A | \$0.00 | \$0.00 | \$17.77 | \$52.85 |
| 2 | Franklin Coal Sales | 08,Ky,195 | Pike, Ky | UR | 27,838 | \$25.25 | N/A | \$15.37 | \$2.53 | N/A | N/A | N/A | \$0.00 | \$0.00 | \$17.90 | \$43.15 |
| 3 | Consol, Inc. | 08,Ky,133 | Letcher, Ky | UR | 19,074 | \$25.00 | N/A | \$15.37 | \$2.53 | N/A | N/A | N/A | \$0.00 | \$0.00 | \$17.90 | \$42.90 |
| 4 | Quaker Coal Company, Inc. | 08,Ky,195 | Pike, Ky | UR | 29,689 | \$24.00 | N/A | \$15.37 | \$2.53 | N/A | N/A | N/A | \$0.00 | \$0.00 | \$17.90 | \$41.90 |
| 5 | McMining, Inc. | 08,Ky,195 | Pike, Ky | UR | 9,361 | \$25.00 | N/A | \$15.37 | \$2.53 | N/A | N/A | N/A | \$0.00 | \$0.00 | \$17.90 | \$42.90 |
| 6 | Transfer Facility | N/A | Plaquemine | OB | 172,745 | \$42.11 | N/A | N/A | N/A | N/A | N/A | N/A | \$0.00 | \$0.00 | \$8.24 | \$50.35 |
| | | | Parrish, La | | | | | | | | | | | | | |

FPSC FORM NO. 423-2

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS ORIGIN, TONNAGE, DELIVERED PRICE AND AS RECEIVED QUALITY

1. Report for: Mo. June 1998

2. Reporting Company: Florida Power Corporation

2

3. Plant Name: Transfer Facility - IMT



- Name, Title and Telephone Number of Contact Person Concerning Data Submitted on this Form Delmar J. Clark Jr., Senior Regulatory Financial Analyst (813) 824-6491
- 5. Signature of Official Submitting Report

Delmar J. Clark Jr., Senior Regulatory Financial Analyst

| | | | | | | | Total | | | | | |
|------|------------------------|-------------|----------|-----------|--------|-----------|-----------|----------|---------|-------------|------------|----------|
| | | | | | | Effective | Transpor- | F.O.B. | | As Received | Coal Quali | ty |
| | | | - | Franspor- | | Purchase | tation | Plant | Percent | Btu | Percent | Percent |
| Line | | Mine | Purchase | tation | | Price | Cost | Price | Sulfur | Content | Ash | Moisture |
| No. | Supplier Name | Location | Туре | Mode | Tons | (\$/Ton) | (\$/Ton) | (\$/Ton) | (%) | (Btu/lb) | (%) | (%) |
| (a) | (b) | (C) | (d) | (e) | (f) | (g) | (h) | (i) | (j) | (k) | (1) | (m) |
| 1 | A. T. Massey Coal Co. | 08, Wv, 005 | LTC | TR&B | 56,736 | \$25.75 | \$17.24 | \$42.99 | 0.73 | 12,461 | 10.08 | 6.35 |
| 2 | Pen Coal Company | 08, Ky, 071 | LTC | В | 4,145 | \$28.30 | \$17.24 | \$45.54 | 0.67 | 12,239 | 9.52 | 8.19 |
| 3 | Pen Coal Company | 08, Wv, 099 | LTC | В | 20,254 | \$28.30 | \$17.24 | \$45.54 | 0.67 | 12,239 | 9.52 | 8.19 |
| 4 | Coal Network, Inc. | 08, Wv, 059 | S | В | 8,519 | \$20.80 | \$17.24 | \$38.04 | 0.59 | 12,212 | 9.77 | 7.54 |
| 5 | Kanawha River Terminal | 08, Wv, 039 | S | В | 1,764 | \$14.75 | \$17.24 | \$31.99 | 0.77 | 12,859 | 10.27 | 4.91 |
| 6 | Kentucky May Coal Co. | 08, Ky, 133 | S | В | 9,165 | \$25.15 | \$17.24 | \$42.39 | 0.70 | 12,446 | 8.92 | 7.73 |
| 7 | Kentucky May Coal Co. | 08, Ky, 119 | S | В | 37,520 | \$24.35 | \$17.24 | \$41.59 | 0.65 | 12,537 | 9.79 | 6.71 |
| 8 | Kentucky Coal Terminal | 08, Ky, 119 | S | В | 8,466 | \$22.25 | \$17.24 | \$39.49 | 0.70 | 12,389 | 10.91 | 6.84 |
| 9 | Riverwood Coal Sales | 08, Ky, 195 | S | В | 8,514 | \$21.95 | \$17.24 | \$39.19 | 0.69 | 12,327 | 9.63 | 7.59 |
| 10 | Riverwood Coal Sales | 08, Ky, 195 | S | В | 1,779 | \$22.95 | \$17.24 | \$40.19 | 0.64 | 12,300 | 9.85 | 7.61 |

FPSC FORM NO. 423-2A

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS ORIGIN, TONNAGE, DELIVERED PRICE AND AS RECEIVED QUALITY

1. Report for: Mo. June 1998

- 2. Reporting Company: Florida Power Corporation
- 3. Plant Name: Transfer Facility IMT

.

SPECIFIED Confidential

- Name, Title and Telephone Number of Contact Person Concerning Data Submitted on this Form Delmar J. Clark Jr., Senior Regulatory Financial Analyst (813) 824-6491
- 5. Signature of Official Submitting Report

Delmar J. Clark Jr., Senior Regulatory Financial Analyst

| Line No. | Supplier Name | Mine F Location | Purchase Type | Tons | F.O.B. Mine Price (\$/Ton) | Short Haul & Loading Charges (\$/Ton) | Original Invoice Price (\$/Ton) | Retro- active Price Increases (\$/Ton) | Base Price (\$/Ton) | Quality Adjust- ments (\$/Ton) | Effective Purchase Price (\$/Ton) |
|-------------|------------------------|--------------------|------------------|--------|-------------------------------------|--|--|--|---------------------------|---|--|
| (a) | (b) | (c) | (d) | (e) | (f) | (g) | (h) | (i) | (j) | (k) | (I) |
| 1 | A. T. Massey Coal Co. | 08, Wv, 005 | LTC | 56,736 | \$25.75 | \$0.00 | \$25.75 | \$0.00 | \$25.75 | \$0.00 | \$25.75 |
| 2 | Pen Coal Company | 08, Ky, 071 | LTC | 4,145 | \$28.30 | \$0.00 | \$28.30 | \$0.00 | \$28.30 | \$0.00 | \$28.30 |
| 3 | Pen Coal Company | 08, Wv, 099 | LTC | 20,254 | \$28.30 | \$0.00 | \$28.30 | \$0.00 | \$28.30 | \$0.00 | \$28.30 |
| 4 | Coal Network, Inc. | 08, Wv, 059 | S | 8,519 | \$20.80 | \$0.00 | \$20.80 | \$0.00 | \$20.80 | \$0.00 | \$20.80 |
| 5 | Kanawha River Terminal | 08, Wv, 039 | S | 1,764 | \$14.75 | \$0.00 | \$14.75 | \$0.00 | \$14.75 | \$0.00 | \$14.75 |
| 6 | Kentucky May Coal Co. | 08, Ky, 133 | S | 9,165 | \$25.15 | \$0.00 | \$25,15 | \$0.00 | \$25.15 | \$0.00 | \$25.15 |
| 7 | Kentucky May Coal Co. | 08, Ky, 119 | S | 37,520 | \$24.35 | \$0.00 | \$24.35 | \$0.00 | \$24.35 | \$0.00 | \$24.35 |
| 8 | Kentucky Coal Terminal | 08, Ky, 119 | S | 8,466 | \$22.25 | \$0.00 | \$22.25 | \$0.00 | \$22.25 | \$0.00 | \$22.25 |
| 9 | Riverwood Coal Sales | 08, Ky, 195 | S | 8,514 | \$21.95 | \$0.00 | \$21.95 | \$0.00 | \$21.95 | \$0.00 | \$21.95 |
| 10 | Riverwood Coal Sales | 08, Ky, 195 | S | 1,779 | \$22.95 | \$0.00 | \$22.95 | \$0.00 | \$22.95 | \$0.00 | \$22.95 |

FPSC FORM NO. 423-2B

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS ORIGIN, TONNAGE, DELIVERED PRICE AND AS RECEIVED QUALITY

1. Report for: Mo. June 1998

- 2. Reporting Company: Florida Power Corporation
- 3. Plant Name: Transfer Facility IMT

SPECIFIED Confidential

- Name, Title and Telephone Number of Contact Person Concerning Data Submitted on this Form Delmar J. Clark Jr., Senior Regulatory Financial Analyst (813) 824-6491
- 5. Signature of Official Submitting Report

Delmar J. Clark Jr., Senior Regulatory Financial Analyst

| | | | | | | | Additional | | | | | | | | | |
|------|------------------------|-------------|-------------|-----------|--------|-----------|------------|----------|----------|---------|----------|---------|----------|----------|-----------|----------|
| | | | | | | Effective | Shorthaul | | Other | River | Trans- | Ocean | Other | Other | Transpor- | F.O.B. |
| | | | | Transpor- | | Purchase | & Loading | Rail | Rail | Barge | loading | Barge | Water | Related | tation | Plant |
| Line | | Mine | Shipping | tation | | Price | Charges | Rate | Charges | Rate | Rate | Rate | Charges | Charges | Charges | Price |
| No. | Supplier Name | Location | Point | Mode | Tons | (\$/Ton) | (\$/Ton) | (\$/Ton) | (\$/Ton) | (\$/Ton | (\$/Ton) | (\$/Ton | (\$/Ton) | (\$/Ton) | (\$/Ton) | (\$/Ton) |
| (a) | (b) | (c) | (d) | (e) | (f) | (g) | (h) | (i) | (j) | (k) | (I) | (m) | (n) | (0) | (p) | (q) |
| 1 | A. T. Massey Coal Co. | 08, Wv, 005 | Boone, Wv | TR&B | 56,736 | \$25.75 | N/A | N/A | N/A | N/A | N/A | N/A | N/A | N/A | \$17.24 | \$42.99 |
| 2 | Pen Coal Company | 08, Ky, 071 | Floyd, Ky | В | 4,145 | \$28.30 | N/A | N/A | N/A | N/A | N/A | N/A | N/A | N/A | \$17.24 | \$45.54 |
| 3 | Pen Coal Company | 08, Wv, 099 | Wayne, Wv | В | 20,254 | \$28.30 | N/A | N/A | N/A | N/A | N/A | N/A | N/A | N/A | \$17.24 | \$45.54 |
| 4 | Coal Network, Inc. | 08, Wv, 059 | Mingo, Wv | в | 8,519 | \$20.80 | N/A | N/A | N/A | N/A | N/A | N/A | N/A | N/A | \$17.24 | \$38.04 |
| 5 | Kanawha River Terminal | 08, Wv, 039 | Kanawha, Wv | В | 1,764 | \$14.75 | N/A | N/A | N/A | N/A | N/A | N/A | N/A | N/A | \$17.24 | \$31.99 |
| 6 | Kentucky May Coal Co. | 08, Ky, 133 | Letcher, Ky | в | 9,165 | \$25.15 | N/A | N/A | N/A | N/A | N/A | N/A | N/A | N/A | \$17.24 | \$42.39 |
| 7 | Kentucky May Coal Co. | 08, Ky, 119 | Knott, Ky | В | 37,520 | \$24.35 | N/A | N/A | N/A | N/A | N/A | N/A | N/A | N/A | \$17.24 | \$41.59 |
| 8 | Kentucky Coal Terminal | 08, Ky, 119 | Knott, Ky | В | 8,466 | \$22.25 | N/A | N/A | N/A | N/A | N/A | N/A | N/A | N/A | \$17.24 | \$39.49 |
| 9 | Riverwood Coal Sales | 08, Ky, 195 | Pike, Ky | В | 8,514 | \$21.95 | N/A | N/A | N/A | N/A | N/A | N/A | N/A | N/A | \$17.24 | \$39.19 |
| 10 | Riverwood Coal Sales | 08, Ky, 195 | Pike, Ky | В | 1,779 | \$22.95 | N/A | N/A | N/A | N/A | N/A | N/A | N/A | N/A | \$17.24 | \$40.19 |

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS REPORT OF ADJUSTMENTS TO PREVIOUS COAL DELIVERIES

- 1. Report for: Mo. June 1998
- 2. Reporting Company: Florida Power Corporation

8

3. Plant Name: Crystal River 1 & 2



- Name, Title and Telephone Number of Contact Person Concerning Data Submitted on this Form Delmar J. Clark Jr., Senior Regulatory Financial Analyst (813) 824-6491
- 5. Signature of Official Submitting Report

Delmar J. Clark Jr., Senior Regulatory Financial Analyst

| Line No. | Month Reported | Form Plant Name | Intended Generating Plant | Supplier | Original Line Number | Old Volume (tons) | Form No. | Column Title | Old Value | New Value | New F.O.B. Plant Price | Reason for Revision |
|-------------|-------------------|-----------------------|---------------------------------|---|----------------------------|-------------------------|-------------|--------------------------------------|------------------|--------------|---------------------------------|---------------------------------------|
| (a) | (b) | (C) | (d) | (e) | (f) | (g) | (h) | (i) | (j) | (k) | (I) | (m) |
| 1 2 | 02/98 05/98 | CR1&2 CR1&2 | CR1&2 CR1&2 | Coastal Coal Sales, Inc. Cumberland River Energies | 6 9 | 30,666 9,382 | 2 2A | ↓(f) Tons (k) Quality Adjustments | 30,666 \$0.00 | | /\$42.48 √\$39.99 | Revised Tonnage Quality Adjustment |

FPSC FORM NO. 423-2C

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS REPORT OF ADJUSTMENTS TO PREVIOUS COAL DELIVERIES

- 1. Report for: Mo. June 1998
- 2. Reporting Company: Florida Power Corporation
- 3. Plant Name: Crystal River 4 & 5



- Name, Title and Telephone Number of Contact Person Concerning Data Submitted on this Form Delmar J. Clark Jr., Senior Regulatory Financial Analyst (813) 824-6491
- 5. Signature of Official Submitting Report

Delmar J. Clark Jr., Senior Regulatory Financial Analyst

| | | Form | Intended | | Original | Old | | | | | New F.O.B. | |
|------|----------|-------|------------|----------------------|----------|--------|------|-------------------------|--------|-----------|---------------|--------------------|
| Line | Month | Plant | Generating | | Line | Volume | Form | Column | Old | New | Plant | Reason for |
| No. | Reported | Name | Plant | Supplier | Number | (tons) | No. | Title | Value | Value | Price | Revision |
| (a) | (b) | (C) | (d) | (e) | (f) | (g) | (h) | (i) | (j) | (k) | (1) | (m) |
| 1 | 05/98 | CR4&5 | CR4&5 | Knott-Floyd Land Co. | 3 | 9,624 | 2 | ↓ (f) Tons | 9,624 | 9,633 | \$39.39 🗸 | Revised Tonnage |
| 2 | 05/98 | CR4&5 | CR4&5 | McMining, Inc. | 5 | 9,633 | 2A | (k) Quality Adjustments | \$0.00 | \$ (0.33) | \$42.06 | Quality Adjustment |

FPSC FORM NO. 423-2C

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS REPORT OF ADJUSTMENTS TO PREVIOUS COAL DELIVERIES

- 1. Report for: Mo. June 1998
- 2. Reporting Company: Florida Power Corporation
- 3. Plant Name: Transfer Facility TTI Systems, Inc.

- Name, Title and Telephone Number of Contact Person Concerning Data Submitted on this Form Delmar J. Clark Jr., Senior Regulatory Financial Analyst (813) 824-6491
- 5. Signature of Official Submitting Report

Delmar J. Clark Jr., Senior Regulatory Financial Analyst

| | | | | | | === N O | N E === | | | | | | | |
|-------------|-------------------|-----------------------|---------------------------------|-----|----------|--------------------------|---------|-------------|-----------------|--------------|--------------|--------------------------|------------------------|--|
| (a) | (b) | (C) | (d) | (e) | | (f) | (g) | (h) | (i) | (j) | (k) | (I) | (m) | |
| Line No. | Month Reported | Form Plant Name | Intended Generating Plant | | Supplier | Origina Line Numbe | Volume | Form No. | Column Title | Old Value | New Value | F.O.B. Plant Price | Reason for Revision | |
| | | | المقامة ما ما | | | Origina | | | | | | New | | |

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS REPORT OF ADJUSTMENTS TO PREVIOUS COAL DELIVERIES

- 1. Report for: Mo. June 1998
- 2. Reporting Company: Florida Power Corporation

14.1

3. Plant Name: Transfer Facility - IMT



- Name, Title and Telephone Number of Contact Person Concerning Data Submitted on this Form Delmar J. Clark Jr., Senior Regulatory Financial Analyst (813) 824-6491
- 5. Signature of Official Submitting Report

Delmar J. Clark Jr., Senior Regulatory Financial Analyst

| Line No. | Month Reported | Form Plant Name | Intended Generating Plant | Supplier | Original Line Number | Old Volume (tons) | Form No. | Column Title | Old Value | New Value | New F.O.B. Plant Price | Reason for Revision |
|-------------|-------------------|-----------------------|---------------------------------|---------------------------|----------------------------|-------------------------|-------------|-------------------------|--------------|--------------|---------------------------------|------------------------|
| (a) | (b) | (c) | (d) | (e) | (f) | (g) | (h) | (i) | (j) | (k) | (I) | (m) |
| 1 | 05/98 | Transfer | Facility - IMT | Kentucky May Coal Co. | 6 | 1,572 | 2A | (k) Quality Adjustments | \$0.00 | \$ (0.80) | \$41.59 | Quality Adjustment |
| 2 | 05/98 | Transfer | Facility - IMT | Kentucky May Coal Co. | 7 | 35,019 | 2A | (k) Quality Adjustments | \$0.00 | \$ (0.94) | \$41.45 | Quality Adjustment |
| 3 | 05/98 | Transfer | Facility - IMT | Riverwood Coal Sales, Inc | . 10 | 5,370 | 2A | (k) Quality Adjustments | \$0.00 | \$ 0.05 | \$39.24 | Quality Adjustment |
| 4 | 05/98 | Transfer | Facility - IMT | Kanawha River Terminals | 5 | 7,196 | 2A | (k) Quality Adjustments | \$0.00 | \$ 0.64 | \$ 32.63 | Quality Adjustment |
| 5 | 05/98 | Transfer | Facility - IMT | Coal Network, Inc. | 4 | 9,303 | 2A | (k) Quality Adjustments | \$0.00 | \$ 0.11 | \$38.15 | Quality Adjustment |
| 6 | 05/98 | Transfer | Facility - IMT | Pen Coal Corporation | 2 | 6,997 | 2A | (k) Quality Adjustments | \$0.00 | \$ 0.02 | \$45.56 | Quality Adjustment |
| 7 | 05/98 | Transfer | Facility - IMT | Pen Coal Corporation | 3 | 34,194 | 2A | (k) Quality Adjustments | \$0.00 | \$ 0.02 | \$ 45.56 | Quality Adjustment |
| 8 | 05/98 | Transfer | Facility - IMT | Kentucky Coal Terminal | 9 | 4,814 | 2A | (k) Quality Adjustments | \$0.00 | \$ 0.60 | \$ 40.09 | Quality Adjustment |